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| & | VYMHOKEHHUE JEeCATUYHBIX 3HAKOB Ha CTENIEHD JECATU

WUms: Jata: ___ Ouenka:___
1,009 x 1000000 = 7,931 x 100 =
3,558 x 10 = 1,933 x 1000 =
5,11 x 100 = 4,599 x 100 =
4,163 x 1000 = 10, 156 x 1000000 =
7,406 x 100000 = 2,57 x 1000 =
9,298 x 10 = 4,082 x 1000 =
9, 608 x 100000 = 2,411 x 10 =
4,507 x 10000 = 2,966 x 100 =
3,961 x 1000000 = 5,193 x 10000 =
10,431 x 10000 = 10, 813 x 1000 =
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= . .
| & | o i VYMHOXEHHe JCCATHYHBIX 3HAKOB Ha CTCIICHD ACCATU

Pws: Jata: ____ Ouemka:
1, 009 x 1000000 = 1009000 7,931 x 100 = 793.1
3,558 x 10 = 35.58 1,933 x 1000 = 1933
5,11 x 100 = 511 4,599 x 100 = 459.9
4,163 x 1000 = 4163 10, 156 x 1000000 = 10156000
7,406 % 100000 = 740600 2,57 x 1000 = 2570
9,298 x 10 =92.98 4, 082 x 1000 = 4082
9, 608 x 100000 = 960800 2,411 x 10 =24.11
4, 507 x 10000 = 45070 2,966 x 100 = 296.6
3,961 x 1000000 = 3961000 5,193 x 10000 = 51930
10,431 x 10000 = 104310 10, 813 x 1000 = 10813
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